Cast on 53 stitches + 2 selv sts and work according to chart.

The chart shows only RS rows.

On WS rows, work all sts as they appear; work yos P.

The rep pat = 30 sts.

Begin with 1 selv st and sts before patt rep, work patt rep throughout, end with sts after patt and 1
selv st.

Repeat rows 1- 72 throughout.

Row 1: k3, p3, k3, yo, k3, yo, k3, p3, k3, yo, k2tog, k1, cdd, k1, skp, yo, k3, p3, k3, yo, k3, yo, k3, p3,
k3

Row 3: k2, p3, k3, yo, k5, yo, k3, p3, k3, yo, k2tog, cdd, skp, yo, k3, p3, k3, yo, k5, yo, k3, p3, k2
Row 5: k1, p3, k3, yo, k7, yo, k3, p3, k4, cdd, k4, p3, k3, yo, k7, yo, k3, p3, k1

Row 7: p3, k3, yo, k9, yo, k3, p3, k3, cdd, k3, p3, k3, yo, k9, yo, k3, p3

Row 9: p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, tw7f, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3
Row 11: p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, k3, yo, k2tog, k1, yo,
k2tog, k1, skp, yo, k1, skp, yo, k3, p3

Row 13: p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, k7, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3
Row 15: p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, k3, yo, k2tog, k1, yo,
k2tog, k1, skp, yo, k1, skp, yo, k3, p3

Row 17: p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, k7, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3
Row 19: p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, k3, yo, k2tog, k1, yo,
k2tog, k1, skp, yo, k1, skp, yo, k3, p3

Row 21: p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, tw7f, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3
Row 23: p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, k3, yo, k2tog, k1, yo,
k2tog, k1, skp, yo, k1, skp, yo, k3, p3

Row 25: p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, k7, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3
Row 27: p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, k3, yo, k2tog, k1, yo,
k2tog, k1, skp, yo, k1, skp, yo, k3, p3

Row 29: p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, k7, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3
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Row 31: p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, k3, yo, k2tog, k1, yo,
k2tog, k1, skp, yo, k1, skp, yo, k3, p3
Row 33: p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, tw7f, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3
Row 35: k1, p3, k3, yo, k2tog, k2, cdd, k2, skp, yo, k3, p3, k3, yo, k1, yo, k3, p3, k3, yo, k2tog, k2,
cdd, k2, skp, yo, k3, p3, k1
Row 37: k2, p3, k3, yo, k2tog, k1, cdd, k1, skp, yo, k3, p3, k3, yo, k3, yo, k3, p3, k3, yo, k2tog, k1,
cdd, k1, skp, yo, k3, p3, k2
Row 39: k3, p3, k3, yo, k2tog, cdd, skp, yo, k3, p3, k3, yo, k5, yo, k3, p3, k3, yo, k2tog, cdd, skp, yo,
k3, p3, k3

Row 41

Row 49:
Row 51:
Row 53:
Row 55:
Row 57:
Row 59:
Row 61:
Row 63:
Row 65:
Row 67:
: k5, p3, tw7f, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, tw7f, p3, k5
Row 71:

Row 69

p3, k4

- k4, p3, k4, cdd, k4, p3, k3, yo, k7, yo, k3, p3, k4, cdd, k4, p3, k4
Row 43:
Row 45:
Row 47:

k5, p3, k3, cdd, k3, p3, k3, yo, k9, yo, k3, p3, k3, cdd, k3, p3, k5
k5, p3, tw7f, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, tw7f, p3, k5

k5, p3, k7, p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, k5

k5, p3, k7, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, k7, p3, kb

k5, p3, k7, p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, kb

k5, p3, k7, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, k7, p3, k5

k5, p3, k7, p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, kb

k5, p3, tw7f, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, tw7f, p3, k5

k5, p3, k7, p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, kb

k5, p3, k7, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, k7, p3, kb

k5, p3, k7, p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, k5

k5, p3, k7, p3, k3, yo, cdd, yo, k5, yo, cdd, yo, k3, p3, k7, p3, kb

k5, p3, k7, p3, k3, yo, k2tog, k1, yo, k2tog, k1, skp, yo, k1, skp, yo, k3, p3, k7, p3, kb

k4, p3, k3, yo, k1, yo, k3, p3, k3, yo, k2tog, k2, cdd, k2, skp, yo, k3, p3, k3, yo, k1, yo, k3,

Chart

knitchart.com

Page 2 of 3



Key

m Central Double Decrease
cdd

(RS slip 2 sks, knit 1, pass 2 slip sts over

| [knit
k
{RS) Knit

2 knit 2 Together
kzkog

(RS Knit 2 stitches together

w— | P
p
(RS) Purl

NE;
E

(RS) Slip 1, knit 1, pass slipped stitch over

[ ___,...--" Twisk 7 Fronk

fRS) 5l 3 sks bo cn and hold at front, K4, K3 from cn

D Yarn Ower
Wi

(RS) Yarn Owver
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